

B-6, Dalamal Towers, Basement, 211, Nariman Point, Mumbai - 400 021.

DATE: 30.01.2024

To. TFS

QUOATATION

Sr. No.	Particulars	Size(wxh)	Specification	Qty	Rate	Amoun t
1	Emergency number	A6	Reflactive Vinyl Sticker	5	35	175
2	Turn off when not in use	140x60 mm	Reflactive Vinyl Sticker	5	30	150
3	Watch your Step	A4	Reflactive Vinyl Sticker	5	110	550
4	Watch your Step	2ftx0.69 ft.	Reflactive Vinyl Sticker	5	380	1900
5	Chemical Storage Area	A6	Reflactive Vinyl Sticker	5	35	175
6	Wet Floor	A4	Reflactive Vinyl Sticker	5	110	550
7	Safety Shoes	A4	Reflactive Vinyl Sticker	5	110	550
8	Emergency Exit	A4	Reflactive Vinyl Sticker	5	110	550
9	Electrical Panel Area	A4	Reflactive Vinyl Sticker	5	110	550
10	Emergency Exit	2ftx0.69 ft.	Reflactive Vinyl Sticker	5	380	1900
11	Sharp Knives	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
12	First Aid Box	14.899 x 10.5 cm	3M/LG Vinyl sticker	5	35	175
13	Fire Extinguisher	A6	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	40	200

Tel.: 66105252 / 22873843 / 22824963 22043443 / 22025050 / 22848885

Tele-Fax : 22824963

E-mail : karmanpatel@gmail.com

		6, Dalamal Towe riman Point, Mu	rs, Basement, 211, EN mbai - 400 021.	ITERP	RISES	
14	PASS	A6	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	40	200
15	Flammable Materials	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	95	475
16	Mind Your Head	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
17	CO2	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
18	Hot Surface	A5	Hot Resistance Sticker	5	64	320
19	Work In Progress	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	95	475
20	Biohazard Waste	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
21	FSSAI BOARD	A3	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	3	200	600
22	Fire Suppression System	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
23	Dustbin Use me sticker_biodegradable and nonbiodegradable	9x3 in	3M/LG Vinyl sticker	5	53	265
24	Glass Sanitized	A5	3M/LG Vinyl sticker	5	35	175
25	Hand wash Creative	A5	3M/LG Vinyl sticker	5	35	175
26	sanitize your hands before payment	A5	3M/LG Vinyl sticker on 5 mm Sunboard with back stand	5	53	265
27	Wet & Dry & bio waste	A4	3M/LG Vinyl sticker	5	95	475
28	Your Safety is in your hands	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
29	Your Safety is in your hands_A5-Sanitize	A5	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	70	350
30	Chiller	A3	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	200	1000
31	Clean As you Go	A3	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on back	5	200	1000
32	4D Pest Control	A3	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on	5	200	1000

Deserves of 044

AMBIKA

Ambika

Tel.: 66105252 / 22873843 / 22824963 22043443 / 22025050 / 22848885

Tele-Fax : 22824963 E-mail : karmanpatel@gmail.com

5

5

5

95

95

95

475

475

475

B-6, Dalamal Towers, Basement, 211, **ENTERPRISES** Nariman Point, Mumbai - 400 021. back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on 5 A3 Personal Hygiene 200 1000 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on 5 Allergen A4 95 475 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on 5 Gloves Usage A4 95 475 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on Hand wash Method A4 5 95 475 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on 5 Kitchen Hygiene A4 95 back 475 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on A4 5 Store Raw Food 95 475 back 3M/LG Vinvl sticker on 5 mm Sunboard with 2 way tape on 5 Hair Nets Notice A4 back 95 475 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on Process A4 5 95 back 475 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on 5 Temperature A4 95 475 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on Α4 5 Know The PPE 95 back 475 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on Kitchen Waste Management A4 5 95 475 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on 5 Chemical Safety A4 95 475 back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on Α4 5 **Cross Contamination** back 95 475

3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on

back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on

back 3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape on

back



AMBIKA

A4

A4

A4

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

Reheating

Food Cooling Process

Cold Storage Techniques

Tel.: 66105252 / 22873843 / 22824963 22043443 / 22025050 / 22848885

Tele-Fax : 22824963

E-mail : karmanpatel@gmail.com

		B-6, Dalamal Towers, Basement, 211, Nariman Point, Mumbai - 400 021.		ENTERPRISES		
49	Food Safety	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape of back	n 5	95	475
50	Wet Waste	A4	3M/LG Vinyl sticker	5	70	350
51	Glass Waste	A4	3M/LG Vinyl sticker	5	70	350
52	Bio Waste	A4	3M/LG Vinyl sticker	5	70	350
53	Dry Waste	A4	3M/LG Vinyl sticker	5	70	350
54	Color Coding Procedure	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape of back	٦ 5	95	475
55	BOH Signage's	12x4 In	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape of back	^ו 5	64	320
56	Exit Sign	12x4 In	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape of back	۱ 5	64	320
57	Allow us to change buffet	A4	3M/LG Vinyl sticker on 5 mm Sunboard with back stand	5	88	440
58	WIFI	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape or back	٦ 5	95	475
59	Children's below 5 years	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape of back	٦ 5	95	475
60	Food Consumption	A4	3M/LG Vinyl sticker on 5 mm Sunboard with 2 way tape of back	٦ 5	95	475
61	Tea & coffee Station	A4	3M/LG Vinyl sticker on 5 mm Sunboard with back stand	5	95	475
62	Easel stand	5 ft	Wood material	5	1600	8000
63	We use Vegetable Oil for Cooking	A4	3M/LG Vinyl Sticker	5	70	350
64	Live station - EGGS and Dosa	A4	3M/LG Vinyl sticker on 5 mm Sunboard with back stand	10	88	880
65	Dietary requirements	A4	3M/LG Vinyl sticker on 5 mm Sunboard with back stand	5	88	440
66	Food Tags		Laminated	210	6	1260
					GST @18% Grand	40685 7323.3 48008.
					Total	48008.

AMBIKA

AMBİKA



B-6, Dalamal Towers, Basement, 211, Nariman Point, Mumbai - 400 021.



Terms and Conditions GST 18 % or as applicable Credit Period of 30 Days Delivery 10 working days after receipt of confirm PO

Thanking you

AMBIKA ENTERPRISES